1/N_, chh/de [GeV]

Ratio to ATLAS

o
&

w

N
ol

1.5

0.5

0.5

13000 GeV pp Z+Jet
[ I I I | I I I | I I 1]
— pT Spectrum (ATLAS UE in Z production) —
. =  ATLAS _
1+ Pythia 6.428 350 L
— --&-- Pythia 6.428 351 7
_ --¥-- Pythia 6.428 352 —
A Pythia 6.428 353 -
— --0-- Pythia 6.428 354 -
--+-- Pythia 6.428 355 _
— & Pythia 6.428 356 —
B Pythia 6.428 357 B
B Pythia 6.428 358 7
=~ Pythia 6.428 359 —
E N
— llﬁ —

1 \ —
I Wﬁ -
- m g B
- . -
— I el ]
- Oq n
: ";.F':I ar! Jﬁ :

[rutik;'-:::jEjl.JW;l_” fr.'mr’i_i] ' M\!
— & ""‘ BT i’r’ d g 5_7
o fo MR o O -
B O e , & © 5
®

1 1 1 | 1 1 1 | 1 1 1

0 2 4

Rivet 3.1.10, = 1.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


